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Reasoning Mega Quiz for RRB NTPC Exams

Q1. In the following question, select the related number from the given alternatives.
fRaferfeT o ¥, fag 7 et 7 & awifaT @@ g

3:27::4:?

(a) 63

(b) 64

(c) 65

(d) 15

Q2. In the following question, select the odd number from the given alternatives.
fRefafaT w1 #, R fawedt # & faww = 1A,

(@) 31

(b) 37

(c) 43

(d) 49

Q3. If "P" denotes "multiplied by", "R" denotes "subtracted from", "S" denotes "added to" and "Q" denotes
"divided by", then which of the following equation is true?

A “P" T ok A §, R Ak T, 8" HT A AT § A QAT o A A &, o Pt
H q HIT T GHHT Tl &

(@) 18R60Q15S2=18

(b) 15S16Q2P4 =47

(0)3P5R18Q3=6

(d)15528Q4P2=27

Q4. In the following question, from the given alternative words, select
the word which cannot be formed using the letters of the given word. S pe cla l Offe r
faftfET s #, RumrRsai v g o gRic A R ass &

T T ST 5 T AT T2 RRBNTPC 2019

HANDSOME

(a) HATS STAGE-1

(b) HOME
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Q5. In a row of books a book of English is 16th from left end of row. A book of Mathematics is 12th from the
right end. If the Mathematics book is 6th to the right of the English book, then how many total books are in
the row?

TEql T TF UTRE F, SRSh T e T FW 910 S A 1697 g T T TF [EqF FFHA T3 G A 1247 g
i o it g S it  &a® 6 I F §S TIF I g, AT G § ToF (haeit Teaeh 87

(a) 33

(b) 32

(c) 34

(d) 31

Q6. In the following question, select the number which can be placed at the sign of question mark (?) from
the given alternatives.

Rufitea v 7, R g et & & 98 @& GRS wafeeg (2) F Taenfud < a6dt g

336 170 748
523 78 349
431 7 328
(a) 33
(b) 34
(c) 36
(d) 37

Q7. In the following question, by using which mathematical operators will the expression become correct?

Rufertea vt , g it sferar 1 Soar F3 g< T @ aeisr a8t grm?
3076747574
(@) -, =,xand +
(b) +,=,xand -
(c) =,x,+and -
(d) -, +,=andx

Q8. A statement followed by some conclusions is given below. Find which of the given conclusions logically
follow from the given statement.

TF F99 247 17 & S =9 & s &k 11 Ry 1w €. Re 1w waEt § oqr 3 @& # @ fAeed
THET T & AT F &,

Statement: Majority of the girls in the class are intelligent.

FIAT: FEAT H ATARTT ASRAT LFHT 2.

Conclusions:/ fAsF:

I. There are no boys in the class./ F&T | &< TS+ Aal &

IL Some of the girls in the class are not so intelligent./ F&T # F& ASTHAT SAAT (FATT Tal 2.
(a) Only Conclusion I follows./ ae MR [ AT HLAT 8.

(b) Only Conclusion II follows./ Fae AR | AT FXAT 3.

(c) Both I and II follow./ 9t 1 i< 11 IET AL F3d &

(d) Neither I nor II follows./ T @7 I 7 I 11 SAE F¥AT .
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Q9. If PEN = 613 and STRING = 580934 then RIPENING =

T PEN = 613 3T STRING = 580934 dT RIPENING =? A
(a) 09631934
(b) 09163934 PREMIUM PLUS

(c) 09316934

N S S C
Q10. Find the missing term (?) in the series. -

< S gE@AT | AT §&AT (?) AT o,
DABC, HEFG, ?, PMNO, TQRS
(a) UKL
(b) LIK
(c) KIJL
(d) JIKL

Q11. A boy leaves his school and travels 8 km towards the east. He takes a left turn and travels 6 km in that
direction, and then turns towards the east and travels another 5 km. Finally, he turns right and travels 10
km. In which direction is he now from his school?

TH ASH A9 &6l  Aaaar g 3K 99 st A< 8 Foht i am=m #ixar §. 98 a1¢ Hear § i s+t Rer & 6
Y it = AT § SR fhe g &t e H{=ar § SR =y 5 fat Y amar Far 7. o #, 98 U {Ear § 6K
10 ToFeT it =T 2T 8. 9 a8 A9 T | o e # 872

(a) South-East /Zferor-qa

(b) West/af%rT

(c) East /93

(d) North-East/3T%-98

Q12. Arrange the given words in the sequence in which they occur in the dictionary.
T 1T 1T A rsaTAeAT * AT FARIq fifod.

i. Preview

ii. Preventive

jii. Prefer

iv. Preformation

(a) i, ii,,iv

(b) iv,iii,j,ii

(€) iii, iv,il,i

(d) iii, i,ii,iv

Q13. In a certain code language, "BRING" is written as "25698" and "JAIL" is written as "4367". How is
"BRINJAL" written in that code language?

et A2 g wToT ), “BRING” # “25698” % &9 # for@T S vt 8 3% “JAIL” Ft “4367” % &9 § for@r sir
HAT §. AT e AT F “BRINJAL” Fver W ferat stTaemm?

(a) 2566437

(b) 2569437

(c) 2569347

(d) 2659437
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Q14. Identify the diagram that best represents the relationship among the given classes.

S ARG FT TZATH S T 7T 971 % 1= Farell 1 qoa =37 iaAiae F3ar g
Vegetable, Park, Carrot

LESIRIETIS EY

()
OO
O

Q15. In a certain code language, "HAMMER" is written as "MAHERM". How is "MATTER" written in that
code language?

et AfSra e wraT 7, “HAMMER” #1 “MAHERM” & &9 ® for@r SItar 8. av St %ie 9T § “MATTER” &9
e feran ST

(a) TREMAT

(b) TAMERT

(c) TAEMRT

(d) TARMET

Q16. In the following question, two statements are given each followed by two conclusions I and II. You
have to consider the statements to be true even if they seem to be at variance from commonly known facts.
You have to decide which of the given conclusions, if any, follows from the given statements.

= RT3 wr §, T Fa R 1w g e i < Ao 187 11 R 1w 8. srahr iR 1o s & o /e
g W & 9 gaurg oAt 9 e gt g R s fReifa war g & afe R w3 At § @ s ar
T T FET T ATEO AT ©.

Statements:/ &I:

(I) Some bags are hot./ F® 57 TH 2.

(I) All hot things are cakes./ THT TH =19l i &.

Conclusion:/ fAs=y:
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(I) All cakes are bags./THT 3 =T 2.

(I) All bags are cakes. /T a7 & 2.

(a) Conclusion I follows /fAed | SIqE FTAT &

(b) Conclusion II follows /fATFT 11 STHTT FAT 5§

(c) Neither I nor II follows /7 @T I 3fIT T &I 11 AL HLAT &
(d) Both I and II follows /2T 1 i< 11 THET FXd &

Q17.Find out the odd word/letters/number/number pair from the given alternatives.
Ru w7 fReedt # & f{ow srsa/avi/eeaT 1 999 #i8.

(a) Mustard gas /¥&ze 9

(b) Gasoline/ &

(c) Diesel/ Eterer

(d) Natural gas/ El'l'tfﬁﬁ T

Q18. Find out the odd word/letters/number/number pair from the given alternatives.
R 1T Reeut ¥ 9wy erse/avi/HeET T 99T Y

(a) 125

(b) 512

(c) 1321

(d) 1728

Q19. Five friends are sitting on a bench facing the north. Ankit is sitting to the immediate right of Anjum.
Amit is sitting to the left of Priya and to the immediate right of Ram. Ram is sitting to the right of Ankit. Who
is sitting at the extreme right end?

T T I it AT @ F F TH 99 G 96 gl ATha S & 3 riee o7 {1 tfHa o & ars sie J=1 §
T TH F 31 TR AT 437 g1 TH HATohd o QA 43T 3 AT TR BT I i 43T 82

(a) Amit /=TT

(b) Ankit/3ifeha

(c) Priya/fS=m

(d) Anjum/3[

Q20. Pointing to a woman, a girl says, "Her daughter-in-law is married o
to the only son of my husband's mother-in-law." How is the girl related S peCIaI Offer

to the woman?

T ARHAT FiT AT AT FA U, TH AShl gl g, “SAhI SIEL-ZA-AT SSC CPO

#F ATt A 9fA it AI-ZA-AT F THALD 9 4 g3 1" ASh! Afgar d &

ST T & TIER-II

(a) Niece /AfTSTH/STTsIT

(b) Granddaughter/T=tex 10 Full-Length Mocks
(c) Daughter /a&t

(d) Cousin /T Validity : 1Month
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Q21. A, B, C, D, E, F are sitting on the round table with equal distances. F is sitting opposite to E and between
A and D. C is sitting right side of E and opposite to A. Who are the neighbours of A?

A, B,C, D, E, F T& Ter AW 9 G99 g T I3 €. F, E ¥ fFadia sfik A 3i< D & 787 937 8. C, E & qAfRAT A
FTE R AF Ruda a1 8. AF =Rt 79 &2

(a) Fand D/ F 3T D

(b) Eand F/ E3fiT F

(c)Eand C/E 3T C

(d) Band F/ B#T F

Q22. From the given alternative words, select the word which cannot be formed using the letters of the
given word:

fRu T et | 9 o751 I 5T FT TAT T g O T T 9157 F AW FT STANT F<h Al TAAT ST T
gl

CONCENTRATION

(a) CONCERN

(b) CONTAINER

(c) CONCERT

(d) CENTRAL

Q23. If 'WZB'’ stands for ‘DAY’, how will you code ‘MONDAY"?
I3 ‘WZB’ #T 9 ‘DAY’ §, a7 ‘MONDAY’ fFe X fer@T strgam?
(a) NLMWZB

(b) PLOWZB

(c) NMLWZB

(d) PQRWZB

Q24.1f ‘+’ means ‘/’, °/ means -’ , -’ means ‘X’, ‘X’ means ‘+’, then 24 + 8/2 - 6 X 6?
g ‘ATt ), ST F AT X, X FT AT+, AT24+8/2-6X6=?
(a) -10

(b) -3

(c)12

(d) 21

Q25. In this question, some equations are solved on the basis of a certain system. On the same basis find out
the correct answer from amongst the four alternatives for the unsolved equation.

T T H, T e Ta [Afsa yormedt @ g g 1 81 S s w1 fRw g 9 Awedt § @ AT g oy
TT 737 % fore at S g e

7x6Xx8=678

8x9x7=987

6X5%X7=567

5X4X6=7
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(a) 456
(b) 564 12 Months Subscril

(c) 645

(d) 654 é
Q26. Select the missing number from the given alternatives: e B O O K P L US

R 1T Rreedt W 9 ST GAT FT T Y
= SSC

7
8 0 ?
4 9 6
60 | 90 | 70
(@9
(b) 8
(©7
(d) 6

Q27. A man starts from a point, walks 5 km towards East, turns right and walks 3 km, turns right again and
walks. What is the direction he is facing now?

T et TF &g & 7w & F<ar €, 5 Bt gF ff A< s §, 306 q=ar g i 3 et soar &, e a ag
AT g 3T =TT g N 31 g Farg e 7 32

(a) North/3X

(b) South/=faror

(c) West/afzr

(d) South-west /aferor qfsr

Q28. Consider the given statement/s to be true and decide which of the given conclusions/assumptions can
definitely be drawn from the given statement.

ATIRT AIAAT g o6 oI 77 a<rey 97 g, 918 98 90 19 a1 9 = Sdta grar gnl srusr [oig s
& B Ru wrw a<ver & AT =0 & s-aua 9t fAswd/gaamo Rt s awdt 82

Statement /&I

1. All animals are four-footed./ T SITHAT 9T 9% AT BId &

2. Dog has two legs./ ﬁ FAIIAE

Conclusion /fAshe

I. Dog is not an animal./F<T TF A< A5l ©.

IL Dog is an animal./F<T TF a7 &

(a) If only I follows/ % Fae | ATELI FLAT &

(b) If only I follows/ Ff& @<t 11 AT FIAT &

() If neither I nor Il follows/ If& T AT [ T T BT I AL AT g
(d) If both I and II follow /= 1 3T 11 FT STLHLIT LT &
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Q29. In the give cubes, which colour is opposite to purple?

a7 w1 3, $E 3 R A A 2

Purple Blue Rod Green

Red Red Purple Purplo
Blue Yellow Groon Orange

(a) Violet/ ST+t
(b) Red/=TeT
(©) Yellow/d=T
(d) Blue /=T

Q30. Which of the following diagrams correctly represents elephants, wolves, animals?

Ruftea & & Fi7 a7 arg greft, S, e & 6= #71 9g; afafRfta Far |2
(a)

(b)
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